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Q1. Find the curl of 2( , , )F x y z xyi y zk= −
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Q2. Evaluate 

C

xdy∫  where C is the curve as shown 

n the figure.                     (2,3) 
 
 
                (0,0) 
      
    
        (2,-2) 
     
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Q3. Using the Green’s theorem, express the line 

integral 2

C

xy dx∫� as ( , )
b d

a c

f r rdrdθ θ∫ ∫ where C is a 

closed curve consisting of two 
semi circles and to line segments  
as shown in the figure. 
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